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What is the difference between them — WM INA

OVERVIEW

The 873 cites 27 (who states 21°% 217 2°3w '3 7npi) and PR (who states NTR0W 7Y
mp on '3 P10 MPE2 '3 MEY M7°7A '2). The X793 then asks 177°°1°2 *Rn between 2
DXIMWY; it seems that both require [complete] 27w '3. Our MHOIN questions and
clarifies this assumption.

nooIn asks:
— DY *NYA NYNY KIS MIINA WHYT 1N93%a NIIN NIV 99NN ON)

And if you will say; there is a major difference’' between 17 and SXw, since

three grape harvests can be done in (slightly more than) two years -
— DY VY1 12 YINN 1719781 Q) 982 NIV 9102V

For he harvests at the end of the (first) year, and two additional harvests (one

each) in the following two years. This would be a valid apin according to 2Xmw, who
requires 121 M7°¥2 ", but not according to 27 who requires 2% 011 02w ",

n90IN answers:
—>m5830 MY 93 by mIs8a AT 1YY ynawunt PN 13229 9N

And the "1 answers that it seems to the X713 that PX1% meant three complete
harvests for all three years of harvesting.

mooIn has an additional question:
— %55 9991 117199392 NIINT 23WN NY INNN PNYY 139295 N1vN Yan

However the 3''1 is astounded; why did not the X723 answer that the difference
between 21X 27 is in a case of either 5571 or Y95K —

mooIn proves that this is a valid distinction:
— YIN 279 PYUMN N9 (3,ny 91 519t NMaYT NN 7992 1999N72

" This is in contrast with the next question of Moo where the proposed difference would not be as significant.
? Others insert here the word 1171,
3 Just as the second and third harvests are accomplished after a complete year of work, similarly the first year
harvest is after a complete year of work (see &"w"7n and vn MR 7"210).
* 257 means that the harvest season (of the third year) began earlier (than usual) and *25% means that it began later.

erefore it is possible that N17°¥2 "3 can be less than 1% arn w"x °97M) or more than 217 orn W' "79R). See
Therefore it is possible that ' be less th K " (by th K "3 (by 2 S
‘Thinking it over’ # (1&) 2.

e Xn*11 is discussing how one can make 7170 his wine press or olive press if they are Xnv. For certain parts (7w

> Th d g h k h p live press if they F tain parts (2
M} 21 79W) it is necessary that he not use them (j3w>°n) for twelve months

5 t y that he not use th for twel th
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As the Xn»72 states in the last P99 of 'y ndon; for how long does he age them;

twelve months, this is the view of the p"n -
— 7aY 7253 1Y NI N HNOUMI 12 PINAY 129

2"aw1 rules, that he should not use them (j3w>»n) from one wine harvest to the
next, or from one olive harvest to the next; the x 3 asks -

599N 9991 17799392 NN NP NI 13999
This ruling of 2"2w" is the same as the p''n; the X answers the difference

between them is by 9583 559m; the X3 should have given the same answer here. mM2o1n
does not answer this question.

SUMMARY

The 51 M7°¥2 '3 according to PRMW must be NMn>w M¥a (of a full year’s work).
Seemingly by 581 *5717 the 1P may take less or more respectively according to
oX1mw than the 1% o1n w"s according to 2.

THINKING IT OVER

MooIN mentions the 177°°1°2 XK of *25K1 *5717 both by N3 (which is stated in the X773
there) and by "3 npmn.® Seemingly if 11wn requires w71 2° (according to the p"n)
how would 1"2wA explain that by "7 it becomes M7 (dried out) quicker and by
"HoX it becomes (dried out) 7w slower?!

Similarly here where m»0in assumes that by 57717 it would be a 7P in less than @'
and by *99X it would not be a P11 even after w"3; how would we reconcile this with
aTPR KD DL ,XIWWA WK T W', where is his 70w by 571 (when it is less than
w"3), and why should he lose out by *79% (where it is more than w"3)?!

2. Why is mooin proposed answer of *29X1 971 a preferred answer’ more than the
s'Rn3 answer of 71 5P7?

% There is a year between the harvests.
7 If it is *97m it is less than w7 2" and if 99X it is more than w1n 2". See ‘Thinking it over’ # 1.
¥ See footnote # (4&) 7.
? See footnote # 4.
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